[ o —X vHERRA 2 VHERBHEE~ =27 v~ 2 2 v/ Z LR FIRE

ZWGH L 72 on farm HlEE — ] [FiRFE 2022/06/02
~—= U oS iE

P26 =180 xHPU... =24x180 xHPU ...

P26 Z 2T, HPU = 5.6 X BW07 + Z 2T, HPU = (5.6 XxBW*7 +
22XECM + L6 X 10 X if#fRf2 H | 22X ECM + 1.6 X 105 X {44 H K °)
03 / 1000

P38 CH. ke (L/H) = Gtk s | CHLHEEE (L/H) = &4 & (kcal/
(kcal/H) / 4.9)... H) /4.89)...

P38 fREC4.9 IFEFEEEE 1 LY (REC4.89 IIMRRHER 1 L Y720 ..
...

P38 ... X 0.48 + BW0.7 ... % 0.48 + BWO7 (kg) X #ft+ ME %
(kg) % 0.1124] x 1000 k& (Mcal/BW5kg) | x 1000




